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Al 7,721,000 7,431,932 289,068
AEALY 5,857,000 5,597,932 259,068
AEA 5,857,000 5,597,932 259,068
o) 7= A 2 ¥ 2HE A 2,100,000/ 2,000,000 100,000
o A eHEEFA FH 2,100,000 2,000,000 100,000
TEd F4 1,480,000 1,044,400 435,600
o 2W= o AF 763,000 750,000 13,000
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o TAY =¥ FHASH| 60,000 28,000 32,000
- 27| RA(5E) 60,000 28,000
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- AME ZH 3| 20,000 13,950
- 37| AL R HU|RS R 13,000 11,300
— 2R IIA SR 1,300,0008%123] = 15,600 13,200
~ ZoiE FHHE 9 o|X} MELR 11,260 9,626
- TAIA, MR, AUSTIEY, BAHA R 11,800 11,317
- oM PE|A} IEITSH| 800 660
— H|MEXT || S 4,240 3,500
o AlEFA] B 240,000 336,600/ 296,600
— et JIAAIM Hag 50,000 54,000
— M7 BAAMES 35,000 37,000
— ROfA|ME S 75,000 80,600
- HERX D, 22ESF S 80,000 165,000
o A= 35,000 34,500 500
- AME, RO 22 E 7 35,000 34,500
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ATEEY 1,864,000 1,834,000 30,000
A -2 1,864,000 1,834,000 30,000
1719 1,234,975 1,147,985 86,990
o & 817,001 784,183 32,818
o YAIZ & 17,000 16,000 1,000
o F7tg<] 307,591 260,680 46,911

- AlZke| g 181,184 169,148

— ARG 27,647 25,652
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25 93,383 87,122 6,261
- E|ZZ0{5HE F30{(A2+3E)/12¢ 93,383 87,122
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AH-He 106,251 99,034 7,217
HueEsE 32,497 30,318
QAR HZ 2,129 1,986
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M7|22 15,000,000 *12% = 180,000 180,000
TAZIAQF 5,000,000 %122 60,000 60,000
ASIEEQF 1,000,000 %122 13,000 15,600
SIYINM RS IS RUREF 3,500 2,802
D7 MOALRE  250,0009 %12 3,000 0
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O 7| 21,900 24,300 22,400
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